Sub.Code : 1041'B'
NEB - GRADE XII
2081 (2024)
Accounting
Supplementary Examination

Framefietel T HTHA STHT T R85 | FT9T [FARTAT R3Qa dge Quie®
FAroee /

Candidates are required to give their answers in their own words as far as
practicable. The figures in the margin indicate full marks.

Time: 3 hrs. Full Marks: 75
TS TR ITT R | (Attempt all the questions)

w HEH (Grﬂup HAH]

afadfir IOeH® T¥AE® (Very short answer questions) 99x9=5%
q. e RifiEe FEHEE A SETER
Write the meaning of public limited company.
R HTER AT E §2ACT [MUNAE® deterd |
Write any two features of equity share.
3 I T & geacT Yiuwet aradd TR |
List out any two items of current assets.
¥, ST AT H qEaCT FIEaE® Seoid Tar |
Mention any two advantages of cost accounting.
Y. gfEdTefier ARTT SHEr & &1 7 (What is variable cost ?)
% R ATHTHT AT GAH! NTHLI THB Y |

9.

Classify the overhead on the basis of function.

T T T B qEAET FUEE Iooid THE |

Mention any two reasons of material control.

SHGTHT FFLEY YUTEATHT Ft §5aT HHEE ool THE |

Mention any two limitations of computer system in accounting.

ATIH (AT s & 3,000 F G TAERH TaL! TAL T |

Pass an adjusting journal entry for pre-paid insurance expired of Rs. 2,000.

FFATETE T ATATCHT TATeT @adb! SRl (1T THar |

From the following information calculate cash from operating expenses .
g=aT@q @4 (Operating expenses) Rs. 1,50,000

A (Contd...)



1041'B’ (2)

for atel g==e @=HT 9Ed & 30,000 T1E §, ¥0,000

(Chang in operating expenses due) Rs. 30,000 to 40,000
9. TIT FEHE B AAHTAEE R G

The following information of a company are given as :

A AFITEAT (Annual requirement) 3,000 units
gftr A9 AT (Ordering cost per order) Rs. 40
JUETT & (Carrying cost) Rs. 0.375

TR T (Required):
et smaer 9T (Economic Order Quantity)

TE “@" (Group "B")
AT SUAHS® T¥e® (Short answer questions) Gx4=%0
3. % FHAI & 90 Fe dfed & 900 T 94,000 fFam daT ard 7=, sEHrh
FrTET 29 |

(A company issued 15,000, share @ Rs.100 each at Rs.10 discount, payable as
under):

AM&TTHT (On application) Rs. 20
FISHISHT (On allotment) Rs. 40
TqH q9T Afwaw fET (On first and final call) Rs.30

3Y,000 FEFRT TATEHT AT ATATT T ST | 40,000 foFaT A@ETeTE 90,000 faFa
YT TSI MY | 1T 90,000 fHTT MaATAATE TR TS STHT 4,000 fam
YT Sighie TRET T Fidht ¥,000 fFar aAEeears feat 1t | smde a6y
T X AISHISHT I AT | Y00 [T ST Af<w [t & aes

HIT SRS g fEwmar T 9T 94T |

Applications were received for 25,000 shares. The BoD decided to allot
10,000 shares in full, 10,000 shares were allotted on pro-rata basis and rest
applications were rejected. Excess application money were adjusted on
allotment. All calls money were duly received except on 500 shares on
final call.

TR TEM (Required): $=E® (Journal entry) I+
a) TAT A9 (Share application)
b) AT FEHIE (Share allotment)
¢) 99T 999 97 Af=a" = (Share first and final call)

HAM:(Contd...)



(3) 1041'B'

93.(1) 'A’ FFYAA B! ST FFATARES] FHIEE & 3,00,000 HGHT @& T4
HeEHT T |
A company purchased the following assets of 'B' Company at an agreed price
of Rs. 9,00,000.

wi=< (Furniture) Rs.6,00,000
AETEE (Debtors) Rs.2,00,000
Hreerae® (Inventories) Rs.3,00.000

'A' FEHI ITh @7 Hed €. 00 TG AT 0% FEAT (MEhTer T SJehr 74T |
A company paid the purchased price by issuing shares of Rs.100 each at a
discount of 10%.

WR THe™ (Required): 949
JURH q¥IT FO7 T IAT ewre T8 qrerre! e
Entries for purchase of above assets by issuing shares.
(ii) TIT I &, 9,000 TTH 0% FeAT 4 AW uleg 4% Afcteh @A fvdl T
T %00, Y HUTH T T=AT |

A company issued 500, 9% Debentures of Rs. 1,000 each at discount of
10% and redemption after 5 years at 5% premium.

TR T4 (Required): 3
YA (BT T SR Hr=T
Journal entries for issue and redemption of debentures.

¥, UF FHAIP! Frgerd T FaR g g |

The Trial Balance of a company is given below :

e (Dr.) Free (Cr.)
faaTor (Particulars) Rs. faaoT (Particulars) Rs.
A= HiwaTa AT 9T (Share capital) | 10,00,000
(Closing stock) 3,20,000 | §TEE® (Creditors) 1.20,000
9a+ (Building) 6,00,000 | srfamte ATHT 80,000
At ( Machinary) 300,000 | (Retained earnings)
@ (Investment) 4,00,000 | T (Loan) 1,00,000
TS @ & ATHT (Grass profit) 7.10.000
(Administrative expenses) | 1,50,000
AMTHIE® (Debtors) 2,00,000
7% (Cash) 40,000
STHAT (Total) 20,10,000 | =T (Total) 20,10,000

A (Contd...



1041'B' (4)

99 W& (Additional information):
a) WETHT Y% T ATRTOHT 90% BT FE

Depreciation charged on building (@5% and on machinary(a)10%.
b) fae art o @5

Outstanding administrative expenses Rs. 15,000
¢) WEAIET AT (Proposed dividend) @10%
TR THEE (Required): IR

a) TGRT F#E @Tar (Profit and loss account)
b) TTHT A& Aighie @rar (Profit and loss appropriation account)
Y. TIT FFqra! Taay 39 fedwaa! awqa 908 oo R | |

The Trial balance of a company as on 31* December last year is given

below :
faaTuT (Particulars) Dr.Rs. Cr.Rs.
@4% (Purchase) 2,40,000
¥ TSI (Opening stock) 60,000
Aft & (Machinary) 3,00,000
FA@g @9 (Office expenses) 60,000
HTET (Rent) 40,000
1T (Wages) 20,000
AETHIEE (Debtors) 80,000
g (Cash) 30,000
g5t (Capital) 2,00,000
fr#t (Sales) 6,00,000
fo o+ fa=1 (Bills payable) 30,000
ST (Total) 8,30,000 8,30,000
99 sM&d (Additional information):
a) SRl o atat samEr (Wages due) Rs. 4,000
b) &TE MO AYA@ (Write off bad debt) Rs. 6,000
TR W (Required): Y
1 fraor (Work sheet)

Fig: THAT AThel TAR TG T3 | (Prepare format yourself)
HFAM: (Contd...)



() 1041'B’
9%, SR srETehr afearaT o aeet F fHaer Fedt STt AETer | 3

Write the meaning of cost accounting and write any three importance of
cost accounting.

9, (i) Fra=iiea @XE®T 1 292 ITEEEE Jooid THRH | R

Mention any two disadvantages of decentralised purchasing.

(ii) STt wieATr TSR FFERf T FOAREE KU g |

Following are the store transactions for the month of January :

Jan 1: 9% HIET (Opening stock) 300 units@Rs. 40
Jan 15: @3 (Purchased) 800 units@ Rs.50
Jan 25: @dg (Purchased) 1.300 units(@ Rs.60
wadl wfewrar ST fa#t (Sales during January) 1,700 units.

AT aMSTEE. (Required): 3
AT AT FOTe i FIFO fafer s réh arfeemr fissmaat AnTa T skt sy
Cost of ending inventory and cost of goods sold using FIFO method under
periodic inventory system.

95.(i) ¥O TFTS ITURA T § TSI THY [RUH! G | TIT FHRIA T AfeHT 30,000
&S IURA &g | Fauver ST & & ¥00 @& g | (Time allowed to
produce 40 units of ouptput is one hour. A worker produced 20,000 units
during the month, wages rate per hour is Rs. 400.)

AT S e™. (Required): R
FHIHGTCH] SqTeAT (Wage of workers)
(ii) for<ftr s T wTe SETfas qEAT TIET M e O AT |
On reconciliation of financial and cost accounting the following facts
were disclosed.
a) fa<ha @ E‘E'IUFF"[ ATHRT (Profit shown by financial account)  Rs.1,10,000
b) fa<ita SETHT FEMT AYTY @ &, 30,000 g AWE qCH G |

Work overhead over recorded in financial accounts Rs. 20,000.

¢) =T faci e 7TF AEET TS & 30,000
Income tax Rs. 30,000 provided only in financial account.
d) = 9Tl &. 90,000 fawfid J@THT THTEAT T |
Interest received Rs. 10,000 included in financial account.
TR e (Required): :
amTa feama frer fa@or (Cost reconciliation statement)

HAM:(Contd...)



1041'B' (6)
9R. AEGT FFEAYLH! [TIqTEE A TR | Y
Explain the feature of accounting software.
e “T" (Group "C")
ﬁﬁﬁ' guucH® Y¥e® (Long answer questions) IXG=RY
R0, UITT FHIHIHT =7 3] B e T0eT fegua g |
Trial Balance of a company as on 31* Chaitra last year is given :
faToT (Particulars) Dr. Rs. Cr.Rs,
JIHL (Equipment) 200,000
9% A5e1d (Opening stock) 10,000
THEE (Debtors) 1.00,000
@42 (Purchase) 1,50,000
TOTAT (Wages) 40,000
TR ek (Custom duty) 10,000
aeld  (Salary) 50,000
ANH ATST (Prepaid rent) 40,000
& (Cash) '5010{]0
EEIRGE (Advertisement) 10,000
AT (Furniture) 70,000
ST (Investment) 80,000
&9 (Interest on loan) 10,000
AT ‘fﬁﬁ' (Share capital) 2.00,000
=t (Sales) 4.,00,000
TS AT=TAT (Interest received) 15,000
Hlee® (Creditors) 1,15,000
FHUT (Loan) 1,00,000
ST (Total) 8,30,000 8,30,000
99 SH&e® (Additional information):
a) Afvaw FeeTa (Stock at close) Rs. 30,000
b) @R ATST @< ARGAr (Prepaid rent expired) Rs. 16,000
¢) fawt st @9 (Salary outstanding) Rs. 10,000
d) T =TT (Tax provision) @20%
¢) SIHTHT ™ F& (Depreciation on equipment) @10%

HAA: (Contd...)



(7)
TR THe™ (Required):

a) FEE AW & (Multi-step Income Statement)

b) e se=rer faaTor (Statement of Financial Position)

#94T (Or)
a) NFRS = ST 71T [ feaor

Profit or Loss Statement based on NFRS

b) NFRS & e o s

Statement of Financial Position based on NFRS.

{. TS FFIAIHI g5 FUSHT ATHATT THATER 3 |

1041'B’

¥+ ¥

The Balance Sheet of a company for two years are given as follows :

Capital & Liabilities 20x1 (Rs.) 20x2 (Rs.)
YT 9T (Share capital) 5.00,000 6,00,000
a7 i (Share premium) 1,00,000 1.20,000
90% FHIYAR G (10% Debentures) 100,000 50,000
HIge® (Creditors) 1.50,000 1.70,000
ATIATCT ATHT (Retained earnings) 50,000 1,00,000
ST (Total) 9,00,000 10,40,000
Assets 20x1 (Rs.) 20x2 (Rs.)
wTe T AT (Plant & machinery) 6,00,000 7,00,000
T (Investment) 1,00,000 50,000
e (Cash) 50,000 1.00,000
#issTd (Inventory) 1,00,000 70,000
AETHEE (Debtors) 50,000 1,20,000
9,00,000 10,40,000
97 SH&e® (Additional information):
1) @ AT (Net profit for the year) Rs. 80,000
fi) STSIeT SR (Dividend paid) Rs. 30,000
iii) WATe T REYTIEET B FE
Depreciation on plant & machinery Rs. 60,000

iV) & 30,000 9 WT-geATE & 94,000 HT fa=ht whdr |

Plant of book value Rs. 20,000 was sold for Rs.15,000.

FH4T: (Contd...)



1041'B'
v) Wire 8% (Plant purchased)

(8)

Vi) FITTHAT ATTIRTH A %,000 JUT Hepizar |

Premium on redemption of debenture Rs. 5,000.

vii) FTHIATE 90,000 ATHMHAT [t AT |
Investment sold at a profit of Rs. 10,000

TR e (Required):
v faftreTe 7 yae fEr

Cash flow statement using indirect method.

IR, TIT HFIHTRT T STl feguawr g

The following information relates to a company :

st (Sales)

Fo9T YS9 @48 (Purchase of Raw materials)

A& ™1 (Direct labour cost)

Rs. 1,80,000

¥ +3+949

Rs. 6,00,000
Rs. 2.00,000
Rs. 1,20,000

HEET A9 @# 31 W (Factory overhead of labour cost) @50%

fart sweast @= fasrar (Selling overhead of sales) @10%

FTET A @ far (Office overhead of sales) @5%

ArsaTaa! e FErEr g |

The detail of stock given as :

9% (Opening) #t=q ¥ (Closing)

@ardt &% (Finished goods) 34,000 36,000

7 T &%) (Work in progress) 20,000 32,000

F=4T 919 (Raw materials) 30,000 38,000
TR e (Required): I+

AT faT (Cost sheet)




